
SBL 0103 Ekenäs bridgeklubb

2024-01-27  Årsfestbridge 240127 Slutresultat
3 bord, 6 par. Antal brickor: 25. Medel: 50.

Plac Par Poäng % Namn MID Klubb

1 4 58 58,0 Håkan Bjurström - Nils Jansson 1305  Ekenäs Bk
2 3 53 53,0 Gunnar Almark - Kosti Piipponen 1754 2767 Ekenäs Bk
3 1 52 52,0 Regina Forssten - Göran Hemanus 2266 1279 Ekenäs Bk
4 6 51 51,0 Börje Eriksson - Anders Johansson 1280 1217 Ekenäs Bk
5 2 47 47,0 Ulla Lindström-Dahl - Jonny Barman 2273 1547 Ekenäs Bk

6 5 39 39,0 Gun Finne - Inger Jansson 2529 2271 Ekenäs Bk



SBL 0103 Ekenäs bridgeklubb

2024-01-27  Årsfestbridge 240127 Slutresultat
3 bord, 6 par. Antal brickor: 25. Medel: 50.

Par Kontr Ut Resultat Poäng
Bricka:  1

2 4 4 Ö = D -420 0 4
3 5 3 Ö +1 6 -170 3 1
6 1 3 Ö +1 E -170 3 1

Par Kontr Ut Resultat Poäng
Bricka:  2

2 4 2 Ö = E -110 1 3
3 5 1N S +2 4 150       4 0
6 1 2 Ö = E -110 1 3

Par Kontr Ut Resultat Poäng
Bricka:  3

2 4 3N Ö +1 3 -630 1 3
3 5 4 V -1 5 100       4 0
6 1 3N Ö +1 3 -630 1 3

Par Kontr Ut Resultat Poäng
Bricka:  4

2 4 4 S -1 9 -100 1 3
3 5 4 S -1 E -100 1 3
6 1 4 N +1 D 650       4 0

Par Kontr Ut Resultat Poäng
Bricka:  5

2 4 4 S +1 D 650       2 2
3 5 4 S +1 D 650       2 2
6 1 4 S +1 D 650       2 2

Par Kontr Ut Resultat Poäng
Bricka:  6

1 5 4 Ö = 2 -620 1 3
4 3 3 Ö +1 4 -170 4 0
6 2 4 Ö = 2 -620 1 3

Par Kontr Ut Resultat Poäng
Bricka:  7

1 5 2 Ö = D -90 2 2
4 3 3 Ö -1 kn 100       4 0
6 2 1 Ö +2 E -110 0 4

Par Kontr Ut Resultat Poäng
Bricka:  8

1 5 3 N +2 E 150       1 3
4 3 4 S +1 K 450       4 0
6 2 3 N +2 E 150       1 3

Par Kontr Ut Resultat Poäng
Bricka:  9

1 5 4 N +1 E 450       4 0
4 3 4 N = 2 420       2 2
6 2 3 S +1 E 170       0 4

Par Kontr Ut Resultat Poäng
Bricka:  10

1 5 6 S = D 1430       4 0
4 3 4 S = 6 620       0 4
6 2 4 S +1 D 650       2 2

Par Kontr Ut Resultat Poäng
Bricka:  11

2 1 4 S -2 2 -100 1 3
5 4 4 S -2 5 -100 1 3
6 3 4 S = 2 420       4 0

Par Kontr Ut Resultat Poäng
Bricka:  12

2 1 1 S -1 3 -100 3 1
5 4 3x N -4 D -1100 0 4
6 3 2 S -1 5 -100 3 1

Par Kontr Ut Resultat Poäng
Bricka:  13

2 1 1N Ö -1 5 100       4 0
5 4 1N V +1 5 -120 0 4
6 3 1N Ö = 4 -90 2 2

Par Kontr Ut Resultat Poäng
Bricka:  14

2 1 6 Ö = 10 -980 0 4
5 4 3N V +3 4 -490 2 2
6 3 6 V -1 10 50       4 0

Par Kontr Ut Resultat Poäng
Bricka:  15

2 1 4 N = 3 620       4 0
5 4 2 S -1 D -100 2 2
6 3 3N N -3 7 -300 0 4

Par Kontr Ut Resultat Poäng
Bricka:  16

1 3 2N S = 2 120       0 4
5 2 3 V -3 8 300       4 0
6 4 1N N +2 D 150       2 2

Par Kontr Ut Resultat Poäng
Bricka:  17

1 3 3N Ö +3 2 -490 1 3
5 2 6N Ö -1 2 50       4 0
6 4 3N Ö +3 10 -490 1 3

Par Kontr Ut Resultat Poäng
Bricka:  18

1 3 4 S -2 8 -200 0 4
5 2 4 Ö -1 E 50       4 0
6 4 3 Ö = E -110 2 2

Par Kontr Ut Resultat Poäng
Bricka:  19

1 3 2 N = D 110       2 2
5 2 3 N -1 3 -50 0 4
6 4 1N S +3 5 180       4 0

Par Kontr Ut Resultat Poäng
Bricka:  20

1 3 4 N = 2 620       4 0
5 2 2 S +1 D 140       1 3
6 4 2 S +1 D 140       1 3

Par Kontr Ut Resultat Poäng
Bricka:  21

3 2 3 V -1 5 50       2 2
4 1 3 Ö -1 E 50       2 2
6 5 2 V -1 E 50       2 2

Par Kontr Ut Resultat Poäng
Bricka:  22

3 2 4 V +1 E -650 3 1
4 1 6 V = E -1430 0 4
6 5 5 Ö = 3 -650 3 1

Par Kontr Ut Resultat Poäng
Bricka:  23

3 2 4 S = D 130       4 0
4 1 3 Ö -1 8 100       2 2
6 5 3 V = 7 -140 0 4

Par Kontr Ut Resultat Poäng
Bricka:  24

3 2 3N Ö +1 4 -430 2 2
4 1 3N Ö +2 4 -460 0 4
6 5 1 N -4 7 -200 4 0

Par Kontr Ut Resultat Poäng
Bricka:  25

3 2 5 N +2 K 440       2 2
4 1 3 N +4 K 190       0 4
6 5 5x Ö -3 10 800       4 0


